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QUESTION 1

Who would USUALLY perform debugging activities?
A. Developers.

B. Analysts.

C. Testers.

D. Incident Managers.

Correct Answer: A

QUESTION 2

For which of the following would a static analysis tool be MOST useful?
A. Supporting reviews.

B. Validating models of the software.

C. Testing code executed in a special test harness.

D. Enforcement of coding standards.

Correct Answer: D

QUESTION 3

Which activity in the fundamental test process creates test suites for efficient test execution?
A. Implementation and execution.

B. Planning and control.

C. Analysis and design.

D. Test closure.

Correct Answer: A

QUESTION 4

You have designed test cases to provide 100% statement and 100% decision coverage for the following fragment of
code. If width > length then Biggest_dimension = wifth Else Biggest_dimenstion = length End_if The Following has been
added to the bottom of the code fragment above. Print "biggest dimension is " and biggest_dimension Print "width:" and
width Print "Length:" and length How many more test cases are required?
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A. One more test case will be required for 100 % decision coverage.

B. Two more test cases will be required for 100 % statement coverage, one of which will be used to provide 100%
decision coverage.

C. None, existing test cases can be used.
D. One more test case will be required for 100% statement coverage.

Correct Answer: C

QUESTION 5

Which of the following is a MAJOR task of test implementation and execution?
A. Measuring and analysing results.

B. Reporting discrepancies as incidents.

C. Identifying test conditions or test requirements.

D. Assessing if more tests are needed.

Correct Answer: B
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